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QUESTION 1

What security package is implemented with the following code? 

dwStatus = DsMakSpn 

( 

"ldap", 

"MyServer.Mydomain.com", 

NULL, 

0, 

NULL, 

andpcSpnLength, 

pszSpn 

); 

rpcStatus = RpcServerRegisterAuthInfo 

( 

psz 

RPC_C_AUTHN_GSS_NEGOTIATE, 

NULL, 

NULL 

); 

A. Diffie-Hellman encryption 

B. Repurposing 

C. SSPI 

D. SMDT 

Correct Answer: A 

 

QUESTION 2

What is defined as the practice of using selected process techniques to improve the quality of a software development
effort? 
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A. Software coding 

B. Systems life-cycle engineering 

C. Software engineering 

D. Business systems analysis 

Correct Answer: C 

 

QUESTION 3

What type of error will result from the following statement? 

int main(int argc, char* argv[]) 

{ 

char i[7]; 

strncpy(i, "sdfusdofof", sizeof(i)); 

} 

A. Unbounded string copy 

B. Null-termination 

C. String-termination 

D. String truncation 

Correct Answer: B 

 

QUESTION 4

What would be the result of the following code? 

#include  

#include  

int main(int argc, char *argv[]) 

{ 

char *input=malloc(20); 

char *output=malloc(20); 

strcpy(output, "normal output"); 

strcpy(input, argv[1]); 
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printf("input at %p: %s\n", input, input); 

printf("output at %p: %s\n", output, output); 

printf("\n\n%s\n", output); 

} 

A. Stack buffer overflow 

B. Heap overflow 

C. Query string manipulation 

D. Pointer Subterfuge 

Correct Answer: B 

 

QUESTION 5

Versions Unlimited, a software design company in Seattle, has just finished development of a new mapping software
product. They have completed testing the internal code and are now ready to involve users other than programmers in
the testing. Versions Unlimited invites internal employees and some external users to come to their company and test
the product in a controlled environment. 

What type of testing is Versions Unlimited currently undertaking? 

A. Alpha testing 

B. Open box testing 

C. Regression testing 

D. Beta testing 

Correct Answer: A 

312-92 PDF Dumps 312-92 VCE Dumps 312-92 Exam Questions

Powered by TCPDF (www.tcpdf.org)

312-92 PDF Dumps | 312-92 VCE Dumps | 312-92 Exam Questions                                4 / 4

https://www.pass2lead.com/312-92.html
https://www.pass2lead.com/312-92.html
https://www.pass2lead.com/312-92.html
http://www.tcpdf.org
https://www.pass2lead.com/312-92.html
https://www.pass2lead.com/312-92.html
https://www.pass2lead.com/312-92.html

